O Bison Gear

INEOS Grenadier - Roof Shelf

SH-INEOS-GRNDR

Part list
Part QTY IMAGE
M6 NUT 13
M6 x 12 mm BOLT | 13 I )))
M8 x 25 mm BOLT | 4 j:[(b
Ce—
20 x 8 mm SPACER | 4 -

Page 1 of 6



O Bison Gear

Shelf Back Fence 1

Roof Shelf 1
Main Tray
Roof Bracket 2

A Required Tools

1 x4 mm hex key

1 x 5 mm hex key

1 x 10 mm wrench

1 x step drill - 22 mm or %" (except Utility Wagon)
1 x plastic trim removal tool or flat plastic card

@Time

15 - 20 minutes

Installation notes

Depending on the trim level of your Grenadier, you may need to drill holes in the plastic
covers in the trunk overhead.

All bolts connections should be checked after driving a short distance when you first install
your shelf.

Page 2 of 6



O Bison Gear

If your car is equipped with the mounting
hardware marked on the image, start from
STEP 3.

UTILITY WAGON

STEP 1

Remove square plastic covers marked
with red circles on the previous image.
Use a plastic trim removal tool or a
plastic card (ATM or similar)."

After removing all four covers, threaded
holes should be visible (as shown in the
side image).

Page 3 of 6



O Bison Gear
STEP 2

Drill a 22-millimeter hole in each cover as shown below (the hole must be in line with
the threaded hole under the plastic). Use a step drill or two drills, first a small one
(3-5 mm) for the pilot hole, and secondly, a 22 mm or 7" drill for the final hole. It's
possible to install the shelf without the covers; in that case, drilling is not required.

34  Front cover

Rear cover \
F\\ \
o r
9 =22 Q \
S L\
a ]J\\ ‘\\J\
N
w \; /’
/i ' ’
: ‘
. / 35.65 |
Drill 22 mm hole / Drill 22 mm hole |

Reinstall all four covers.

STEP 3

Install both brackets as shown in the diagram below. Use an M8 x 25 mm bolt with a 20 x 8
mm spacer. For further adjustment, leave the bolts loose.

Factory covers

20x8 mm spacer

M8 x 25 mm

Page 4 of 6



/.:9 Bison Gear

4x4 & Overland Accessories

STEP 4

Use seven M6 x 12 mm bolts and M6 nuts attach the back fence of the shelf to the main tray.

STEP 5

Slide the shelf over the brackets and secure
it with M6 x 12 mm bolts and M6 nuts.

Page 5 of 6



J) Bison Gear

4x4 & Overland Accessories

STEP 6

Adjust the shelf to your needs and tighten the bolts.

Final result

Page 6 of 6



